Pendule d’Atwood : animation 3D
14-17 octobre 2012

1 L’ Acriture des fichiers

\newcommand\atwood{

% ylol y(11 y[2]1 ylI[3]

% r  theta r’ theta’

y[21 1%

y[311%

(y[0] %y [3] "2+G*(cos (y [1]) -mu) ) / (1+mu) |%

(-2*xy[2]1*y [3]-G*sin(y[1]))/y[0]}
\newcommand\InitCond{r0 theta0 rpointO thetapointO}
% pour sauvegarder une liste 3D

% (x,0,z)

\newcommand{\XYIIID}{%

y[0]*sin(y[11) 10|-y[0]*cos(y[1]1)}
\newcommand{\XY}{%
y[0I*sin(y[1]1) |-y [0]*cos(y[11)}
\newcommand{\XYrtheta}{% x(t), y(t), r(t),theta(t)
y[0]*sin(y[1]) |-y [0]*cos(y[1]1) Iy[0] |y [1]}
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2 L’animation 3D
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